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GEOGRAPHY
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following is formed due to tectonic forces ?
(1) Rift valley (2) Hanging valley
(3)  Super imposed valley (4) Antecedent valley
2. Drowned glaciated valleys in high latitudes regions are known as :
(1) Ocean trenches (2) Submarine ridges
(3)  Fiords (4) Submarine canyons
3.  Match List - I with List - II and select the correct answer from the codes given :
List - I List - II
(a) Basalt (i) Geneis
(b) Granite (i) Quartzite
(c) Sandstone (iii) Schist
(d) Shale (iv) Slate
Codes :
(@ (b) (o) (d)
O @ O G G
@ O @ @) @)
@) Gv) @) @ i)
@) G O @ @)
4.  Consider the following statements regarding kants view on the origin of the earth :

(a) Kant introduced the Newtonian law of gravitation in his theory.
(b) Kant developed his theory accepting the principle of conservation of angular momentum.

(c) Though Laplace put forward the nebular hypothesis of origin of the earth, Kant is
regarded by many as the real propounder of the nebular hypothesis.

Which of the statements are correct ?

(1) (a) and (b) (2)  (b) and (c) (3) (a) and () 4)  (a), (b) and ()

add | T

N

Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

e

YU - 111
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1. foadfte aai & SR feifea § fege fafon 2 g2
(1) 9 =t (2) Taeist =t (3) seRfyd Wl (4)  gead! =Rl

2. o enery e H frfea femmde wnfea ot form e @ T i@ € 2
(1) weErE i (2) 3fAHTHE weh
(3) fwreEH| (4) S GHET HRiTaA

3. Gt - I Gl - 11 % 91 Gafad L a1 9= ST 70 e 9 9el IR & =91

T - 1 T - 11
(a) SR () =
(b) e (i) TS
(c) He=H (i) fore
(d v« (iv) e
%<

(@ () (9
1 @) @ (v) (i)
(2 @ @) @) (i)
@) (v) @) @ ()
(4) () @) @) ()

4. oAl &t 39A o FaY | hIe & AR stfishedl W fo=m &
e 7 A Fagia § <A & o fagia 1 3 R
I J hHIVIE FHolll & TE o T9GIq I WhR Y foenfad fohan|

¢) FEf T 7 get H IAfd FT =eA HY YR Hl Td T, qufy we w1 ferEsm
Heheul 1 SR FqIIes: AT ST 2 |

aﬁqQEFmﬂﬁ%’
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5.  Excessive folding results in:
(1) Reverse fault (2) Geosyncline
(3) Nappe formation (4) Block disintegration

6.  “All coral reefs begun as fringe reefs around an inland”. This was indicated in :
(1) Day’s glacial control theory (2) Daly’s subsidence theory

(3) Darwin’s glacial control theory (4) Darwin’s subsidence theory

7.  Guttenberg discontinuity is found between the :
(1) Upper core and lower core (2) Mantle and the core

(3) Crust and the mantle (4) Upper mantle and lower mantle

8.  Who postulated the concept of Sea floor spreading ?
(1) W.J.Morgan (2) T.]. Wilson (3) Le Pichon (4) Harry Hess

9. Mauna Loa, in Hawaii is famous for :

(1) Botanical garden

(2) Monitoring sea level rise since 1950
(3) Monitoring rainfall
(4) Continuous monitoring of atmospheric CO, since 1957

10. Match the List - I and List - II select the correct answer from the codes given below :

List - I List - II
(a) Isohel (i) line joining places having same average percentage of
cloudiness
(b) Isohaline (ii) line joining the places having same duration of sunshine
(c) Isotach (iii) line joining the places having equal salinity in the ocean
(d) Isoneph (iv) line joining places having equal wind speed
Codes :

@@ (b)) (o (d)

1 @) @) @ (0v)
2 @ @ @) (@)
() @) () @) @)

( ) (i)

4)  (iv) (i)
“

(
yors | TN
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5. oTcAfus 9o & YROTHEEY Bl €
1) foam ¥ (2) &I (3) T fmm (4) foafred sk

6. ‘‘guff yarar fufaai sy ® et gra & frere Sura fafaai ot 1! o forg fagia & <ot o §

1) < = feacr o fagia (2) <t w1 wieHew fHgid

(3) =ifdq =1 feraera e fasia (4) =Ifdq =1 wfsaew fasia

7. A fewhregel feifea # fheeh Hea e Sl ®

(1) =1 wie g FH=e wie (2) Hea ad wE
(3) UU SR Hea (4) TG Hea qen feen Hed

8. TR ¥ IR i Hehed 1 &1 gfadred fore foram?
(1) TS urE (2) 2. faeed (3) @t fy=ta 4) o™

9. TR ¥ Hi e fhe faw wfag 72
(1) drefea Med & fag

(2) 1950 ¥ 9 9 H gfg ® AR & fag

(3) @l I AR & fag

(4) 1957 § AHEHT HETSEHFRE Hi R AR & fau

10. eIt - [ ot - 119 gafad w¢ R A= feu U 20 9 98t S A1 =991 a8
T -1 Tl - 11

(a) FHAT @I (i) A & THM THd YIed aTel T Rl Sired areft W@
(b) HESEOT @I (i) HHM STy Tk YU dTel TH] I Sied delt @l

(c) HHaTE Tfd @l (iii) FETHTR H FHA AT STt €A 1SS el 3@
(d) STEEH® (iv) HAM R A ATt S R Sied aret W@l

< :

(@ (b) () (d)

1 @) @ @ o (0v)
2 @ @) 3§ (iv)
() G) () @Gv) @)
4 Gv) (@) @ @)
e ;
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11. The only truely continuous pressure belt on the earth is :
(1) Southern hemisphere subtropical high
(2) Northern hemisphere subtropical high
(3) Equatorial low
(4) Southern hemisphere sub polar low
12.  Which two global winds originate from the subtropical highs ?
(1) Polar easterlies and westerlies (2) Trade winds and polar easterlies
(3) Trade winds and westerlies (4) Chinook and Foehn
13. An aircraft is flying at an altitude of 10 km. At that altitude the temperature is —40°C. What
is the ambient temperature on the ground :
(1) 24°C (2) 25°C (3) 30°C (4) 20°C
14. Which one of the following is not a necessary condition for condensation ?
(1) Saturation (2) Surface (3) High altitude  (4) Water vapour
15. Given below are two statements. One labelled as Assertion (A) and other labelled as
Reason (R). Select your answer from the codes given below :
Assertion (A) : Land surface is heated more quickly and to a greater extent than the water
surface when subject to an equal amount of insolation
Reason (R) : The specific heat of land is more than that of water
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(3)  (A) is true but (R) is false
(4) (A) is false but (R) is true
16. Which of the following does not enhance the instability of air ?
(1) radiation cooling of earth’s surface after sun set
(2) radiation cooling from cloud top
(3) heating an air mass from below as it passes over a warm surface
intense solar heating in the lowermost atmosphere
HIINIHIIH\HIIH\IHI L ; —
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11. Yeal T THUTH dRdfasd €9 H FTeRd 6 Hiead ¢ :
(1)  <faoft Tremed sdr 3= (2) 3T TMed A 3=
(3) faveda f= (4) <faron wTrend Iuyeta f=

12. &A-¥ I APk qa7 30 FE F I B Q2
(1) gota et 3R ggar g (2) =ANE wEA SR geta ol g
(3) SRS TaT iR TFAT g (4) foIe iR ®H

13. T fomm 10 fr . 1S9 WSS W T 39 96 WATHN —40°C &1 9fF W ST 1 qraHH
foram & ?
(1) 24°C (2) 25°C (3) 30°C (4) 20°C

14. fr=fafga § @ =1 9991 & fau e od 7= & 2
(1) g (2) wdE (3) sfus = (4) STerarsq

15. = Fua feu U | T H TR (A) 3R T F H_ROT(R) & &9 H fen mn g1 = few o

%l H { FEl ST AT

AURIT (A) :  HAM YA § HH i T8 STl Hag i gl H T asit & qe1 Afees T Bl
T

%NT (R) : S o5 fafyre aromm Sa & fafire aomm @ erfus g 21

%<

(1) (A) 3R (R) ST W& & 3R (R) (A) FT Wl =01 2
2) (A) 3R (R) 1wt € 2R (R) (A) T T =AM 7L T |
(3) (A) ¥El T dfehd (R) T4 T |

(4) (A) T § AfeRd (R) 98t €

16. frfafed § § forad gan 1 stfeerar & gfg & gt ?
(1) ¥I o 99 et ol Fag 1 faferor diiaem
(2) HE Y § fafeor siaed
(3) T HdE | e TSIl B I A< H TH BT

(4) TgAEA % Fod Foct feed o 999 §R am

e ;

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

17. The speed of a ocean current is about :
(1) 2% of the speed of prevailing wind
(2) 4% of the speed of prevailing wind
(3) 6% of the speed of prevailing wind
(4) 8% of the speed of prevailing wind
18. The ocean water was iceberg free during the era :
(1) Archaean (2) Paleozoic (3) Cenozoic (4) Mesozoic
19. The salinity of sea ice ranges from :
(1) 0-3% (2) 3-10% B) 11-17% (4) 28-35%
20. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(River) (Sediment transported to ocean in 10* tons/y)
(a) Ganga @ 726
(b) Mekong (i) 500
() Brahmputra (iii) 1600
(d) Yangtze (iv) 1000
Codes :
(@ (b) (o) (d)
W) (W) @ @ 0
@ G (O @) @)
@) ) (v O G
@) v @) 0 @
21. The place where an organism or community of organisms lives is called :
(1) Environment (2) Atmosphere (3) Habitat (4) Society
22. Photosynthesis is the process by which :
(1) Radiant energy converted into chemical energy
(2) Radiant energy converted into thermal energy
(3) Radiant energy converted into bio-energy
(4) Radiant energy converted into geo-thermal energy
aed ||
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17. TEETRE SR & 7d o ¢
(1) forrm™ e sl Tfd 1 2% (2) forr™ e Wi Tid A1 4%
(3)  foremm g w1 TIfd 1 6% (4) foomm ga 1 TIfd A 8%
18. Tr=fafed o 9 ford Heehcd § HeEFR 1 S @6 oh 9 o o
(1) 3T wRThed (2) TYUSiE HEhed  (3)  HiAISseh WEThed (4)  HEAS(E! WETehed
19. T 5 T AT B R
1) 0-3% 2) 3-10% (3) 11 -17% (4) 28 -35%
20. FE -1 Geit - 11 T Gaferq w3 qen A= T T 2 w1 T F g HE I A T Y
Tt - 1 Tl - 11
(&) (|g § SR M a1 qase 10429/y #)
(a) T () 726
(b)  HrewiT @ii) 500
(c) &g (i) 1600
(d) =it (iv) 1000
e :
(@ (b) (o) (d)
1) @) @) @) (@)
2 G @ @) @)
(3) () (v) @ (i)
4) (v) (D) @ (i)
21. 9% T S e SAYan a1 U 9 HIT § Y FHE Nl ¢
(1) e (2) =EHEA (3) fram= (4) wH
22. YR G 98 Uik 8 SEE 51
(1) Tafwor st Tamafe ot o afafda g gl
) oo =it a9 =t § gfafdd gt |
3) faferzo st Sa-ert # ufafda g 2
(4) Tafewor et q-amda st § gfEfdd et §)
rsoss | {ERAT NN :
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23. ‘Vadose water’ remain in between :
(1) Crust and mantle (2) Mantle and core
(3) Ground surface and water table (4) Ground surface and tropopause
24.  Which one of the following is not a macro-nutrients to plants ?
(1) Carbon (2) Iron (3) Nitrogen (4) Oxygen
25. The concept of the laws of “primate city” was given by :
(1) E. Huntington (2) E. C. Semple (3) M. Jefferson (4) W. Christaller
26. To which school does Eratosthenes, the father of geography belongs to :
(1) Roman (2) Arab (3) German (4) Greek
27.  Von Thunen’s Agricultural Locational theory is based on :
(1) Empirical Approach (2) Normative Approach
(3) Deductive Approach (4) Behavioral Approach
28. Who was greatly influenced by Le Play’s triology of Place - Work - Folk and adopted an
alternate triology of Environment - Function - Organism ?
(1) Roxby (2) Geddes (3) Herbertsen (4) Chisholm
29. Which Indian geographer has written the book ‘Geography of Purans’ ?
(1) S.M. Ali (2) P.P. Karan (3) M. Shafi (4) B. Dubey
aed || 10 papeca
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‘sifedm wi@ ' frefafed & d= dW R
(1) T SR Hea (2) Hea R wIe
() 9TA IR 4W Ta=R (4) y@a IR IS

fr=ifera o 9 wedl o1 HeRl-doe el € 2
(1) e 2) e (3) TEgeH (4) SRS

‘grgde fgdt’ % o it Heheu T fonaeh g <t T off ?
(1) 3. g=me 2) 3.9 9T (3) TH. STHEA (4) T=Y, fp=er

TS % ST A [ TRt | Heifed €
1) = 2) (3) A (4) U=

AN A 1 FHS T fagia g W emafa €
(1) T A ek (2) v gfesm
(3) frmAEs gfesmm (4) HIRIQ e

fr=iford | A - & TWA-FRE-dlh & 5 T TR guifed 9 991 S=IH IIeR0-FHE-Sg &

Sehfedeh T3 &l SToAT ?

(1) e 2) frw (3) TEeHA (4) fo=ew

e IR et 3 SR SATh W e JEis foralt € 2
(1) THTH. it (2) g w=m (3) TH. W (4) g

—
j—

Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

30. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - IT
(Modern Indian Geographers) (Field of Specialisation)
(a) R.L.Singh (i) Urban geography
(b) G.S. Gosal (ii) Settlement geography
(c) C.D. Despande (iii) Regional development and planning
(d) V.L.S. Prakash Rao (iv) Population geography
Codes :
(@ (b) (o) (d)
1 @ @) 3§) (iv)
(2) @) @ (v) ()
() @@ Gv) @ ()
(4) (@v) @) @) @

31. Who among the following scholars is not related with behavioural geography ?

(1) W. K Kink (2) Peter Gould (3)  Yi Fu Twan (4) Gilbert White

32.  Which one of the following states in India has the lowest population density in the latest
census ?

(1) Arunachal Pradesh (2) Jammu and Kashmir
(3)  Sikkim (4) Mizoram

33. Which of the following stages of demographic transition indicate the state of under
development ?

(1) High stationary stage (2) Early expanding stage
(3) Late expanding stage (4) Low stationary stage

34. Which one of the following districts in India has recorded the highest sex ratio in 2011 ?
(1) Mahe (Pondicherry) (2) Almora (Uttarakhand)

(3) Alwar (Rajasthan) (4) Thanjavur (Tamil Nadu)

35. Which one of the following density is calculated using following formula : ED = %, where
N is the number of inhabitants, K is per capita quantity of requirement, S is area in square
kilometers, and K’ is the quantity of resources produced per km?2.

(1) Arithmetic (2) Agricultural (3) Physiological (4) Economic
aed || 2 Faper 1
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30. Gt -1l Gt - [1 & T gafera s a0 = U e Hef § 92 W &1 =997 &

el - 1 et - 11
(3MYfTeh W yTreTemest ) ( fergrorgra =t &)
(a) ST foe () ¥l e
(b) .TH. T (i) ST o
(c) W.El <wie (iii) TR fowma iR fem
(d) l.TA.TH. G TE (iv) S g
e :
@@ () (9 (d)
@ @) @) Gv)
(2) @) @) o (@v) (i)
G) G) (@Gv) @ (i)
(4) (v) () (G) ()

31. fr=ifRa § & fogm e[ e § Safad 7 & 2
(1) T=g & fhee (2) dWX oS (3) 9B @A (4) firead =32

32. Ty=iford ® fohe To9 § oTEqd VM1 § 99 ¥ SHUSAT 61 59 o 7
(1) oomed yeo (2) S iR ®wR  (3) fafeww (4) T

33. SHIfheRIT HRTOT 1 HiA-TT =01 STCUfThTH Y ST 1 Fiad Hdl § ?

(1) 5= ifas = (2) SRty faer =R
(3) et fowar == @) fre e =

34, STTTOAT 99 2011 ® 9RA o 79 5t 7 S=Iq@ Aemgama sifea foean an?
(1) g (dfre=d) (2) IR (IWETS)
(3) 3T (TSTEAM) (4) TSR (dfHerrg)

35. fy=ifRd & ®F-91 o9& wHa ED—% H1 ITANT HIh kT S €, fred N frenfasi w5t
e B, K 9 safed strereenal st #4130 ©, S o foh. 1. § & § qen K ufa for. 1.2 seunfeq daneei =1
AR
(1) ST (2) T (@) frEetSea (4) ot
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36. Which one of the following measures of central tendency is used to indicate the ‘centre of
population” ?
(1) Median (2) Mode (3) Mean (4) Harmonic mean
37. Which of the concept relates population size to the land area with a view to assess pressure
of population upon the resources of the area ?
(1) Population Growth Rate (2) Population Density
(3) Agriculture Density (4) Physiological Density
38. Which one of the following religions has maximum territorial region of dominance in the
World ?
(1) Budhism (2) Islam (3)  Christianity (4) Hinduism
39. Which one of the following authors has given the concept of “Demand cone” as shown in
the diagram ?
Q
F
O Quantity T
(@) (b)
(1) Pareto (2) August Losch  (3) Christaller (4) Weber
40. Which of the following group of crops can be grown in the area having temperature 20° —27°C
and annual rainfall more than 150 cm ?
(1) Barley, Jute, Tea (2) Rubber, Rice, Jute
Tea, Coffee, Maize (4) Rice, Wheat, Maize
HIH\IIHIIHINIIH\II\IIHII\I\HHIIHII\IHHI\ 1 Faper
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36. ‘'SMUEA ® e’ giud FH & fau FE ygfa & foma arem &1 Swi e S 2 2

(1) wfee (2) FgAR (3) WA (4) THIE A

37. freiferd & SF-H GheU T &3 & THEH] W SHEAT & a9 H1 L HH Hi g F TTEET &

SATHR 1 fH & | el Har g2
(1) SHHET gfg R (2) SFEE
(3) H =S (¢4) TrEEtSRa w1

38. fova # fhw o % gy & siqia walfus Juria & 2
(1) s (2) =™ (3) TuE (4) Teg

39. freAifed & form or@es 3 9 107" &Y Geheu &1 8, St R fos o <witen wen 2

40. Treifera ford wE@l 1§99 20° — 27°C T9AM T 150 9.9, § 2ifyen afties owi aret &9 § oSt
ST Rl & ?

1) S, e, 9™ 2) TR, ¥Ed, S (3) FME, FE, TRR (4) A, T, T

e

p—

5 Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

41. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II

(Authors) (Theory)
(a) Weber (i) Minimum production cost
(b) Smith (i) Maximum profit
(c) Hotelling (iif) Minimum transport cost
(d) Hoover (iv) Market competition
Codes :

@@ (b) (o) (d)
1) ) @ @) ()
2 @ @ @) (@)

@ @ @ @v) ()

42. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) select your answer from the codes given below :

Assertion (A) : All Japanese steel production occurs at coastal locations.

Reason (R) : The Japanese steel capacity has a coastal exposure and direct access to deep-
water ports.

Codes :

(1) Both (A) and (R) are the true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) as not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(A) is false, but (R) is true.
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41. -1 Gl - 11§ gafea & iR A= fou 73 w2 9 98t S &1 =97 &

T - 1 T - 11

(qE® ) (fagm=)
(a) d; (i) IAAH SR AN
(b) Ty (i) AftreRdH oy
(c) wrefem (iti) TR EET ANTd
(d) TR (iv) SR gfaeast
HE :

@@ () (o9 (d)
1) @) @ @) 0
2 @ @ 3§ (i)
@) @) @) @O ()
@) @@ @) (v) (i)

42. = FA U T T, TF I FURYT (A) 3R TH T ®/IOT(R) F71 17| A e 1 F2f & vt
I T =TI B

APRIT (A):  STUH H Gt TEITd e deid Tiell | Bl 2

HIT (R) : ST ST ScATSH &7l e &l B STafeerd § qei el Y T aret I i
oreft glaen g1

%<
(1) (A) 3R (R) I ¥ § 3R (R), (A) Ft &t A1 T
2) (A) 3R (R) I T T 3R (R), (A) F! & =T Tl T
(B) (A) ¥ B, T (R) 3THA T

(A) 319 8, T (R) TA B |

oo |H||H|||H||H||H||||\|H|\||\||H|H|H||\||\|||\|H||
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43. Consider the following map of an area :

1 School

+ Hospital

O Railway station

X Post office

Select the correct matrix for the above map

0 + 0 K
11111
20110
3[1[1]1]0
4a[1]1]0]0
M s[1[1]0]1
61111
71101
sf1[1]1]0
O + 0 X
11111
20110
31101
41100
@ 511101
6 1]1]1]1
7Z[olo[1]0
sl1 110

ysors [ HIFAIUN
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(2)

IO Ol WIN -

IO Gl WN -

0O + O KX
1 (111
0111110
110111
111]10]0
1111011
1 (111
01111710
1(1]1]0
0 + O X
1 (111
0]1[1]0
1]1]1]0]1
1]11[0]0
1]1]0]1
1]11[1]0
0] 0[1]0
1111011
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43. TH &7 & eAfarad ameas W faem &

O =
+ ST
O Yo I
X T R

oo+

0 500 (f&.Ht.)

SF AHfes & foe Tl e &1 =aw )

0 + 0 K 0 + 0 K
117171 ]1 117171 ]1
2001 [1]o0 2001 [1]o0
sl1[1[1]o0 sfl1|ol1]1
4l1l1]ofo al1]1]ofo
M s[11]01 @ s[11]01
6l 11 1] 6l 11 1]
71101 7lol1[1]o0
sl1 110 sl1 110
O 4+ 0 K 0O + 0 K
11711 ]1 11711 ]1
201110 201110
sf1]1]01 sf1 101
4l1l1loflo al1]1]ofo
G s T1l01 @ s 1101
6| 1] 1]1]1 6| 1]1]1]0
7[olol1]o0 7lolol1]o0
sl1[1[1]o0 sl1[1]l0]1

e
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44. Which one of the following is correct sequence of urban land uses in respect of ab, bc and cd
as per given graph ?

<« Commercial

<« Residential

Economic rent

Distance (km.)

(1) Industrial, Residential and Commercial
(2) Commercial, Residential and Industrial
(3) Commercial, Industrial and Residential

(4) Residential, Commercial and Industrial

add | T
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44. f3UT T IME % STTER ab, be 3R cd F Ty # fFr=fafed § § H-91 T& -0 fH ITER &1 98
HHB?

(3) anfurferes, STEfiTeR SR STaETEt

(4) TETEE, A iR ST

e

N
—
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45. Whittelessy classified agricultural systems of the world. How many agricultural system were
identified by him ?

1) 10 2) 19 3) 14 4) 13

46. Which one of the following group of countries is leading total coal import countries of the
world in 2013 according to the world coal association ?

(1) Bangladesh, South Africa and France, India
(2) Poland, South Africa, Japan and France
(3) China, Japan, India, S. Korea

(4) Japan, South Korea, France, Canada

47. Match List - I with List - IT and select the correct answer from codes given below :

List - I List - II
(Risely’s classification of Indian Race) (Representatives of the respective races)
(a) Indo-Aryans (i)  The Bhils of Rajasthan
(b) Dravidians (i) The Brahmins of Odisha
()  Mongoloids (iii) The Jats of Haryana
(d) Mongolo-Dravidians (iv) The Bhutias of Utarakhand

Codes :

@@ (b) (9 (d)
M @O G G )
() (v) @) @) ()
G) @ Gv) @ (i)

@) ) (v) (i)
ysons [ AR

i) (i

N
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45. fegeadt 7 fava =t Hfy yonferdi 1 anfferzor foran | 3R fohaet Ffo gonferi +1 Te=am™ #1 § 2

1) 10 @) 19 3) 14 4) 13

46. frefafed § & HH-91 TH O F1 T 2013 & o999 Hen @184 & FA9R fava & suit Fa
FHIIAT ST < 1 T © 7

1) SRy, SRI0T SThIshT 3R Wid, wd

(
(2) dreie, Tferor TR, STUM TR Wi
(3) i, SIUM, 9Rd, .

)
)
)
)

(4) ST9M, SF&T0T IR, Hld, HATS]

47. G- 1 Gl - 1 § Afera s &R = fou 73 w2 9 98t S &1 =37 &

Tt - 1 et - 11

( RTelt gRT WK YAt Rt SRfieRvoT ) ( weifera wsTtaat & gfafre )
(a) TUEI - A () TUE & fi |
(b) =wfag ) Nfewn % s
(c) iR (iii) TN % e
(d) we-zforg (iv) STREUE % Wfe
Fe

@ () (9 (@
O O @) @) (iv)
2) () @) (@) ()
G @ @) @ (i)
@) @) @) (v) (i)

poons ]|
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48. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R), select your answer from the codes given below :

Assertion (A) : Indian ocean has become the military bases by many super-powers.
Reason (R)  : There is strong geo-political benefits in Indian ocean and adjacent countries.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

49. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(State) (Tribes)
(a) Gujarat (i) The gonds
(b) Madhya Pradesh (ii) The Mikirs
() Assam (iii) The Khonds
(d) Odisha (iv) The Bhils
Codes :

@ (b) (9 (d)
® @ @ G (@)
(2) @) @Gv) @ (@)
G Gv) @ @) ()
) (D) Gv) @)
Il

ii

4 (G
psos [l

1l 2
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48. = T FuA U M T, TH FT AFURYT (A) TH I HIOT (R) Fel T €| A< € T el @ v

49.

ITHT FIT HY

AMFRYT (A) : &< AEMIR F Hel-Wikd| 1 61 TS o7 T 7 |
HTT (R) : &< TEETR iR fshead! <9 § Tl imfers-TeHifas @y €1
Fe

(1) (A) 3R (R) I ¥ § 31X (R), (A) Ft &t A1 T

2) (A) 3R (R) I T T 3R (R), (A) Ft H& == T T
3) (A) ¥ 8, T (R) 379A B

4)  (A) o6 2, T (R) A

Tl - 101 Gl - 11 9 gafad & R A= i & 2 9 911 ST A1 =997 &

T - 1 T - 11
(=) ( STt )
(a) TSR @ s
(b) T Y ) fafe
() o&d (iii) @fe
(d) sifewm (iv) e
FE :
@@ () (o) (d)
® @ G g @
2) @) @v) @ @
G) @(v) @) @@ @
4) (i iv) (i

) (i) (
rsons [N
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50. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(Countries) (Party System Government)
(a) U.S.A. (i) One party
(b) China (i) Two party
() India (iii) Three party
(d U.K. (iv) Multi party
Codes :

@@ () (o (d)
@O G G G)
2 @ @ @v) ()
(3) () (@v) @) ()

4) (v) () @ @)

51. Which of the following statements is the base of the concept of caste region ?
(1) Numerical strength of a caste
(2) Social ranking of a caste in a region
(3) Proportion of a caste in population

Share of a caste in land ownership

T T
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50. eIt - [ &1 et - 11 9 gafad w¢ R T K ™ F2i § 98 | &1 997 & -

T - 1 T - 11
(gw) ( ST YOI St TR )
(@) T T TARH (i) TH T
(b) = i) feecdm=
(c) ¥ (iii) el
(d) FTEee fehren (iv) “geela

@@ (b) (9 (d)

® @ @ @G (@)

(3) () (@v) @) ()

@) G@v) (@) @O @)

51. fr=fafad § 9 SF-91 97 Sd 91 i Hehoql 1 YR B ?

(1) STfd =1 H&ATHE & (2) YW ¥ fd st WS SO
(3) EE # Sfa 1 ST (4) g-TtuE § Sifa e
rsous AL 2 —
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52.  Which one of the following is the propounder of the shown model ?

—+—+ JF—

~— — T |MIGRANTS T

+ - = . -+ +

- - Intervening +—+ -

ORIGIN  obstacles ~ DESTINATION

— Negative factors + Positive factors
(1)  Zelinsky’s Mobility Model (2)  Rely’s Model of Migration
(3)  Gosal Model of Migration (4) Lee’s Model of Migration

53. Which one of the following regions is defined as “A contiguous geographical area
characterised by cultural homogeneity.....”

(1) Population Region (2) Geographical Region

(3) Cultural Realm (4) Settlement zone

54. Which constitutional Amendment Act has 12th schedule devolving functions to municipal
bodies ?

(1) 73rd (2) 72nd (3) 74th (4) 75th

55. Which of the urban structure models labelled three areas : (1) the city of death, (2) the city of
need and (3) the city of superfluity ?

(1) Exploitive model of urban structure
(2)  Multiple nuclei
(3) Sector model

Social area analysis model

HIINI\|||H|“||||||H\||\|HH|||H\|IHHIIHII\HHHI\
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52, fr=fafed & @ w4 <wie 7T giea & gfaues € 2

—2RUTMIcHSh Shl{ch + ¥IcHh hlleh
(1) Siel=&Rt 1 Tfqelicar ared (2) Yl * Y Hied
(3) TIE 1 GAE HiSd (4) i 1 yaE Hied

53. fr=fafea § @ feg yew = ' diewfas gemdaa gr1 fafa afafed dmifas &= ... & 9 8
aftenfia foam S €1

(1) STEeny®  (2) sFifas YW (3) WiEH{dw uRHed (4) % SiH

54, Trefafea 9 9 feg Sawfe Suem sfufes § 12 o s1qgeEt @ s g7 Tr-frm femi &
EZRECIERI LS

(1) 73 (2) 727 (3) 74 (4) 757

55. e wed wea Afea § 1 &1 ¢ (1) Hid 1 IR, (2) ST I WET AR (3) STUAYehdT T WS 6
w9 T afiha foman T B 2

(1) Vel AT 1 ST Hied Q) g ¥

(3) YR Hied (4) G &5 ferectoor Hied

e
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56. To study regional imbalances and regional disparities in India, which one of the following
methods was applied ?

(1) Unweighted Ranks (2) Composite Index

(3) Principal Component Analysis  (4) Input - Output Analysis

57. Which one of the following factors does not determine the kinds and amount of economic
activity in the region ?

(1) Cost of Transportation (2) Inequality of Income

(3) Technology of Production (4) Demand Side of the Equation

58. The main thrust of regional planning is :

(1) To remove areal disparity (2) To initiate economic growth
(3) To have industrial expansion (4) To increase per capita income
59. Regional growth model by Douglass C. North emphasizes the role of * factors’ in

regional growth.

Hexagenous Endogenous (3) Indogenous (4) Exogenous

H||H||H||H|“||| LN |!||\H||H|\
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56. 9Rd H & srEqel aun &g fadmfae & stemem ¥ frefafea 8 @ sF-t t yomet gy |
AL T 7 ?
(1) &IRa ife (2) @iy gereRih
(3) W@ Fereh forerm (4) TIYE - SIS T
57. frfafed § 9 ®F-91 &1 You | a7fdie wfafafy & geeri aon 7o 1 feifa 728w ?
(1) 9Re=T arm (2) @ FY SFTEEEA
(3)  IAIEH UrENfTRT (4) IO HT T g
58. R AT F1 g&A iR ffafed W E -
(1) &g fomfd 1 R (2) T fowm STRY FT
(3) e fowar foran s (4) vfa =afe o # SRl A
59. <o Hi. e 1 Ui foawe wied yefies fowe 9 e’ i AR TSR <l
gl
(1) T (2) TSN (3) ESNE (4) TS
vsors [ NN i —
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60. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(Concept) (Definitions)

(a) Urban growth (i) relatively large and densely settled populations
engaged primarily in non-agricultural economic
pursuits

(b) Town group (ii) net population increase of towns and cities

() Urban (iii) proportionate increase of the urban population in

relation to total population in a given country

(d) Urbanisation (iv) a group of towns which adjoined one another so
closely as to form a single inhabited urban locality

Codes :

(@ (b) (o) (d)

®  Gv) @ @) ()
() @) (@v) @ ()
() @) @@ @) @)

@ @ (@) G (@)

61. Where is Govind Sagar Lake located ?
(1) Ranjit Sagar Dam (2) Hirakund Dam

(3) Kosi Dam (4) Bhakra Nangal Dam

62. The maximum % share of irrigated area of the gross cultivated area is found in :
(1) Jammu and Kashmir (2) Uttar Pradesh

(3) Punjab (4) Haryana

63. Kakrapara irrigation project is on the river :

(

1)
add | T

Narmada (2) Godavari (3) Tapti (4) Mahanadi
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60.

61.

62.

63.

e
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T - [ 1 gt - 11 9 gafaa &g ok F= fu o w20 @ 98t S a1 997 FiT

et - 1 U
( HeRTUAT) ( wfvweT)
() TR s (i) omeEa foeme SR wsea @ w g e S e
TR-wftrma snfeler saamEl o o 8|
(b) TR-THE (i) R TS TR HT 2 TES § SR |
(c) T (i) ST I F FA TGS F Ho9 § Wed SAEen o
e s
(d) TR (iv) ¥&d 1 Tk TH 98 S TH-GHY § 341 Fehear § w1
BT 81 Toh ot g2 wonet vredl wikerfa & fmion sy
FE
(@ () () (d
1 Gv) @) (@) ()
2) () (@v) @ (i)
(3) @) (@) (@v) (@)
@) @ (@) G (v)

Tifer< R Siel el fed & ?

(1) TS AR Y (2)  ERFS 9 (3) wIE @MY (4) wrEer AT Sy

IR % e 57 H et FS &= 1 Faiteres gfaea fafeaa &= 72

(1) SH-FHIAR (2) SW YW (3) U= (4) R
FHTHIRT =g afEen @ fmfo forg 9 Wgen ¥
(1) ¥ 2) TeEd (3) Tt (4) WM<
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64. The river Indus Originates from :
(1) Mansarowar Lake (2) Kailash range
(3) Loktak lake (4) Tibet

65. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R), select your answer from the codes given below :

Assertion (A) : Punjab, Haryana and Uttar Pradesh are major wheat producing states of
India.

Reason (R) : The well drained fertile soil, 10 to 15°C temperature at the time of sowing
and about 75 cm rainfall are necessary for good wheat production.

Codes :
1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

—~

)
)
3) (A)is true, but (R) is false.
(4) (A) is false, but (R) is true.

66. Which of the canal has transformed agricultural activities of Sri Ganga Nagar, Bikaner and
Jaisalmer districts ?

(1) Kanhar Canal (2) Ram Ganga Canal
(3) Sharada Sahayak Canal (4) Indira Gandhi Canal

67. Report published by UNDP which compares countries based on education levels of people,
their health status and per capita income, is :

(1) Human Education Report (2) Human Population Report

(3) Human Development Report (4) Human Quality Report

68. Spatial data is stored in computer by using :
(1) Plotter digitizer and keyboard  (2) Keyboard and plotter

Scanner, digitizer and keyboard (4) Digitizer and scanner

HII“||H||H|H|| I
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64. Toy -TEt wel @ frehordt &2

(1) AEEER A (2) e gt (3) Whdsh FA (4) fassa

65. T FHe fau T ¥, T 1 UK (A) TR TER 1 HWOT (R) Fal TN 7| A fow 7 i 4 7t
IR H I B

AfireRed (A) : T, TN R W IRY IR & TIE g ScAEH 9 ¢ |

HIT (R) : gaTuared 3 fH, g & I 10 ¥ 15°C Ifeaqw &1 T AR a1
75 9.1, a9t SR g SR % forg T ¥ |

< :
(1) (A) 3R (R) THI T T 3R (R), (A) FI T A=A T
(2) (A) 3R (R) THI T T IR (R), (A) T Tl = 7L T |
(3) (A) THF ¥, T (R) 3T9A T

)

(4) (A) 3@ B, W (R) T €|

66. T TEX T A TR, SRR IR SerR foall =t st geet nfafafat o wwafa w2 fen g2

(1) FR TR (2) T T TR (3) VIRS WS TR (4)  3few MR TR

67. I TAELT. R e KUl o Sae & 9ara-wR, @red & ffq & gfa =fe ama =1
T T §, AT ¢

(1) @ foen gfdee (2) HHE SAEEAT e

(3) ®Ma fawE dfdeced (4) S TUE giaaed

68. TTEATANET 1 TN H3d TU X | Tk Tihel 1 TUG foHa < ¢

(1) TR, dAFETsh IR Feil T2 (2)  FHel ged AR wifeR
ThR, STRETH AR FHell T2 (4) SARETH AR TR
8015 ||\||\||||\|||H||H||||\|“|\||\||\|H|H||\||\|||\|H|| . paper-
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69. LANDSAT, SPOT and IRS are examples of :

(1) Sun-synchronous satellites (2) Geostationary satellites
(3) Radars (4) Natural satellites

70. Which one of the following statistical method is best suited for groundwater exploration by
using GIS tools ?

(1) Standard deviation method (2) Principal component analysis method
(3) Trial and error method (4) Index-overlay method

71. Which one of the following countries first launched Operational Remote Sensing satellite ?
(1) USA (2) UK (3) USSR (4) Germany

72. Raster data start from :

(1) Top-Right corner of the displayed window.

(2) Top-Left corner of the displayed window.

(3) Bottom-Right corner of the displayed window.
(4) Bottom-Left corner of the displayed window.

73.  Which one of the following terms shows variance of a particular distribution ?
M s(x-% @ XL

5 -0 y Bx-%/2
) N @ % 4@

74. Assume their are four families in a country. The average per capita income of these families
is ¥ 5000. If the income of three families is ¥ 3000, I 4000 and X 7000 respectively, what is the
income of fourth family ?

(1) 7500 (2) 2000 (3) 3000 (4) 6000
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69. dede, TH.U.3N A, R . AR wH. fefafad & e ¥

(1) ga-geasierh STE (2) Y-THRIAR ITR

(3) TR (4) UThideh SUUT

70. S1.3TE.TH. ITHI 1 ST H g &I Wit 7g Mt § @ -9 waifus sugs sfersa

fafy 22
(1) ¥ o= fafy (2) THE FueH fagevo fafy
(3) Sir= 3R oo fafy (4) gu-3ufemn fafy

71. Trefafed § @ g <9 3 gdvaw aReEmeres R Hogl STUe 1 garav ke ?
(1) EIH T AR (2) e fared

(3) I TETHEIAR (4) AT

72. W@ Awe efafed 9 e an €
(1) vefeia famer o1 vid-gm@t & (2) vefeq famet =1 vid-=mat s

(3) ehid fawel #1 Ausda-<E w1 (4)  USRA farel w1 STeda-omE H

73. fr=fafed § 9 sA-91 e fwdt e & JHI0 &l <90 2 2

® sx-x @ X)L
_ B 1
3) S(X - X)% (4) %(X - X)%Q 2

74. HH o for fod) 2o o IR 9fam ®a €1 37 9REmi st figa ufd safed a1/ 3 5000 %1 Ffe i 9fieml
I 3™ HAI: T 3000, T 4000 R T 7000 B, @ <Y IRAR i A fohat ® :

7500 (2) 2000 (3) 3000 (4) 6000

(1)
e

W
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75. Match List - I with List - IT and select the correct answer from the codes given below :

List -1
(Landsat 4 and 5 TM)
(a) IFOV
(b)  Revisit
(c) Altitude
(d) Swath width
Codes :

@ ®) (© (@
M O @ @) @)
@ G @) @ @)
@) (v) @) @) @)
@) Gv) @) 0 G

add | T
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List - II
(System Characteristics)
(i) 185 km
(i) 705 km
(iii) 16 days

(iv) 30x30 m for 1-5,7 bands
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75. GEl- 1 gt - [1 § gafad &% iR 99 fou T %l 9 9t S| 1 =997 8

A - 1 T - 11
(ele 4 35 dtmm.) ( woTTet ekt fagreaT )
(a)  SE.TH.SALAL. (i) 185 ..
(b) gAfEm @) 705 fm..
() = (i) 16 fe
d) Ty fagy (iv) 1-5,7 vl & ferw 30 x 30 .
Fe
@@ (b) (o) (d)
O O @) @) (v)
2 @ @) @ (v)
®) (v) (D) @) @
@) () @) @ (i)
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Space For Rough Work
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